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Chiddingly School data – KS2 2021 

 Chiddingly 2021 National 2019 

 WTS EXS+ GDS EXS GDS 

Year 6 Reading 15% 85% 54% 73% 27% 

Year 6 Writing 23% 77% 7.7% 78% 20% 

Year 6 Maths 15% 85% 15% 79% 27% 

Year 6 
Combined 

  
 

77% 
1 child 
7.7% 

65% 11% 

Year 6 GPS 15% 85% 38% 78% 36% 

Year 4 
Multiplication 

Test 

Average score: 15.3/25 
70% achieving over 50% 

  

Context: 

Year 6 

13 children in Year 6 

1 child = 7.7% 

3 x SEND (23%) (1 x EHCP 1x pending EHCP) 

0 x PPG 

o 1 pupil achieved EXS in writing having achieved WTS at KS1 
o 1 pupil achieved EXS in Reading having achieved WTS at KS1 
o 3 pupils achieved GDS in Reading having achieved EXS at KS1 
o 2 pupils achieved EXS in Maths having achieved WTS in KS1 

 
Year 4 
10 children in year 4 
1 child = 10% 
1 x SEND (10%) 
4 x PPG (40%) 

o 1 pupil significantly below will receive targeted support and intervention in year 5 



 

 

 

 

 

 

Chiddingly School Data – KS1 2021 
 Chiddingly 2021  National 2019 
 WTS EXS+ GDS EXS GDS 

Year 2 Reading 28% 72% 36% 75% 25% 

Year 2 Writing 28% 72% 21% 70% 13% 

Year 2 Maths 14% 85% 28% 75% 22% 

Year 2 
Combined 

 72% 14%   

 Year 1 Year 2 Year 1 Year 2 

Phonics  71% EXS 
1 retake 

100 % EXS 82% 91% of cohort 

Context: 

Year 1 

14 children in year 1  

1 child = 7.1% 

1 SEND = 7.1% 

2 PPG = 14% 

o Phonics – 4 pupils WTS of these 3 pupils achieving 29-30/40. Of these pupils 1 is on the SEND 

register. 

Year 2 

14 children in year 2 

1 child = 7.1 % 
3 SEND = 21%  
3 PPG = 21% 

o 2 pupils at WTS in R,W,M will receive targeted support and intervention in year 3. Of these 
pupils 1 is on the SEND register. 

Chiddingly School Data – EYFS 2021 

 Chiddingly 2021  National 2019 
 WTS ELG+ EXC  ELG EXC 

EYFS Reading 26% 73% 13% 77% 19% 

EYFS Writing 26% 73% 13% 74% 11% 

EYFS Maths 20% 79% 13% 80% 17% 

EYFS GLD 26% 71% 13% 72% 13% 

Context: 

15 children in Year R 

1 child = 6.6% 

3 x SEND (5 SEND as of T6) 

1x PPG (3 PPG as of T6) 


